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listl = list()
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listl = ['physics', 'chemistry', 1997, 2000];
list2 = [1, 2, 3, 4, 5 1;
list3 = ["a"’ "b"’ "C", "d"]
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#!/usr/bin/python
listl = ['physics', 'chemistry', 1997, 2000];
list2 = [1, 2, 3, 4, 5, 6, 7 1;

print "listl[O0]: "™, 1listl[O]
print "list2[1:5]: ", list2[1l:5]
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1listl[0]: physics
list2[1:5]: [2, 3, 4, 5]
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#!/usr/bin/python

list = ['physics', 'chemistry', 1997, 2000];
print "Value available at index 2 "
print list([2]

list[2] = 2001;

print "New value available at index 2
print list([2]
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Value available at index 2
1997

New value available at index 2
2001
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#!/usr/bin/python

listl = ['physics', 'chemistry', 1997, 2000];
print listl

del listl[2];

print "After deleting value at index 2
print listl

"w
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['physics', 'chemistry', 1997, 2000]
After deleting value at index 2
['physics', 'chemistry', 2000]
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len([1, 2, 31)
[1, 2, 31 + [4, 5,
0]

["Hi!'] * 4

3 in [1, 2, 3]

for x in [1, 2, 31:

print x,
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L = ['spam', 'Spam', 'SPAM!']
As Vgl 5>9)>
L[2] SPAM!
L[-2] Spam
L[{1:] ['Spam', 'SPAM!']
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cmp (listl, list2)
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#!/usr/bin/python

listl,
print
print
list3
print

=1

list2 = [123, 'xyz'l, [456, 'abc']
cmp (1listl, 1list2)
cmp (1ist2, listl)
= list2 + [786];
cmp (list2, 1list3)
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len(list)
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#!/usr/bin/python

listl,

print
print

First

list2 = [123, 'xyz', 'zara'], [456, 'abc']
"First list length : ", len(listl)
"Second list length : ", len(list2)
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list length : 3

Second list length : 2



max (list)

#!/usr/bin/python

listl, list2 = [123, 'xyz
print "Max value element
print "Max value element
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', 'zara', 'abc'], [456, 700, 200]

", max (listl)
", max (list2)
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Max value element : zara
Max value element : 700

min(list)

#!/usr/bin/python

listl, list2 = [123, 'xyz'

print "min value element
print "min value element
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, 'zara', 'abc'l, [456, 700, 200]
", min(listl)
", min(list2)

>9.0J mlp,aU'o O>9)> Ax0.0 D |))g)‘<:l>.¢_+1j\]b_ aS LSl).>_‘|

min value element : 123
min value element : 200
list(seq)
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#!/usr/bin/python

aTuple = (123, 'xyz', 'zara', 'abc');

alist = list (aTuple)
print "List elements : ",

alList
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List elements : [123, 'xyz', 'zara', 'abc']
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list.append (obj)
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#!/usr/bin/python

alist = [123, 'xyz', 'zara', 'abc'];
alist.append( 2009 );
print "Updated List : ", alist
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Updated List : [123, 'xyz', 'zara', 'abc', 2009]

list.count (obj)
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#!/usr/bin/python
alist = [123, 'xyz', 'zara', 'abc', 123];

print "Count for 123 : ", alist.count(123)
print "Count for zara : ", alist.count('zara')
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Count for 123 : 2
Count for zara : 1



list.extend (seq)
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#!/usr/bin/python

alist = [123, 'xyz', 'zara', 'abc', 123];
bList [2009, 'manni'];

alist.extend (bList)

print "Extended List : ", alist
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Extended List : [123, 'xyz', 'zara', 'abc', 123, 2009, 'manni']

list.index (obj)

53,5 (v 03laiwl owd jaie Guyil OS85 9 gz Sl i ol

#!/usr/bin/python

alist = [123, 'xyz', 'zara', 'abc'];
print "Index for xyz : ", alList.index( 'xyz' )
print "Index for zara : ", alist.index( 'zara' )
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Index for xyz : 1
Index for zara : 2

list.insert(index, obj)
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#!/usr/bin/python

alist = [123, 'xyz', 'zara', 'abc']
alist.insert( 3, 2009)



print "Final List : ", alist
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Final List : [123, 'xyz', 'zara', 2009, 'abc']

list.pop(obj=list[-1])
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#!/usr/bin/python
alist = [123, 'xyz', 'zara', 'abc'l;

print "A List : ", alist.pop/()
print "B List : ", aList.pop(2)
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A List : abc
B List : zara

list.remove (obj)
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#!/usr/bin/python
alist = [123, 'xyz', 'zara', 'abc', 'xyz'l;
alist.remove ('xyz') ;
print "List : ", alList

alList.remove ('abc') ;
print "List : ", alist
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List : [123, 'zara', 'abc', 'xyz']
List : [123, 'zara', 'xyz'l]

list.reverse()
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#!/usr/bin/python

alist = [123, 'xyz', 'zara', 'abc', 'xyz'];
alist.reverse () ;
print "List : ", alList
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List : ['xyz', 'abc', 'zara', 'xyz', 123]

list.sort ([func])
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#!/usr/bin/python

alist = [123, 'xyz', 'zara', 'abc', 'xyz'];
alist.sort () ;
print "List : ", alist
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List : [123, 'abc', 'xyz', 'xyz', 'zara']



